DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

DIVISION WITH 1 TO 10 zj Soomer |
9 2.307 =3 = 106) 650.2 +2 =
) —133.9=5 = 07 51.562 7 =
93) 771.9 = 10 = 08) —2497.5 = 3 =
94 4575 +5 = 109 398.32 + 4 =
95) 12714 = 2 = 10 16024 = 8 =
96) 1.132 =4 = 1) 24336 + 6 =
97) 11838 = 2 = 112) 731.88 =9 =
908) —241.5 =~ 3 = 13) 556.32 =6 =
9 106.2 — 6 = 14) 18768 =~ 8 =
100 —340.68 + 4 = 15 35862 + 6 =
01 952.8 = 4 = 1) —598.4 + 10 =
102) —32.97 =~ 7 = un —64.044 =9 =
103) —92002 = 4 — 1s) —56.514 +- 6 =
101) 4836 = 5 = 19) —682.16 - 8 =
105) —1383.8 =2 = 1200 69.7 +2 =

Mathematics: Division - Level 6 - Horizontal - Set 5
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